Sup Table 1. Two-way ANOVA calculated for mRNA expression, histone modifications and nuclear receptor recruitment in female mice after E2 treatment and thyroid status manipulations.
	
	E2 treatment effect
	Thyroid status effect
	Interaction effect

	Figure 1

VMH

Pgr mRNA levels

Oxtr mRNA levels

POA

Pgr mRNA levels

Oxtr mRNA levels


	F(1,31)=41.6  p<0.001

F(1,31)=1.5 p>0.05

F(1,26)=23.8 p<0.001

F(1,28)=24.9 p<0.0001


	F(2,31)=4.3 p<0.05

F(2,31)=2.6 p>0.05

F(2,26)=1.4  p>0.05

F(2,28)=2.5 p>0.05


	F(2,31)=17.0 p<0.001

F(2,31)=4.4 p<0.05

F(2,26)=12.2 p<0.01

F(2,28)=11.2 p<0.001



	Figure 2

VMH

H3Ac Pgr -721/-650

H3Ac Pgr +261/+332

H3Ac Pgr +621/+683

H3Ac Pgr +841/+915

H3K4 Pgr -721/-650

H3K4 Pgr +261/+332

H3K4 Pgr +621/+683

H3K4 Pgr +841/+915

POA

H3Ac Pgr -721/-650

H3Ac Pgr +261/+332

H3Ac Pgr +621/+683

H3Ac Pgr +841/+915

H3K4 Pgr -721/-650

H3K4 Pgr +261/+332

H3K4 Pgr +621/+683

H3K4 Pgr +841/+915
	F(1,11)=11.9 p<0.01

F(1,12)=1.0 p>0.05

F(1,12)=16.1 p<0.01

F(1,12)=0.00004 p>0.05

F(1,8)=2.8 p>0.05

F(1,12)=2.01 p>0.05

F(1,12)=0.007 p>0.05

F(1,12)=14.4 p>0.01

F(1,9)=0.09 p>0.05

F(1,12)=12.0 p<0.01

F(1,12)=2.0 p<0.05

F(1,12)=1.9 p>0.05

F(1,9)=5.8 p<0.05

F(1,12)=0.06 p>0.05

F(1,12)=1.5 p>0.05

F(1,12)=5.3 p<0.05


	F(2,11)=8.3 p<0.01

F(2,12)=2.0 p>0.05

F(2,12)=3.9 p<0.05

F(2,12)=54.3 p<0.0001

F(2,8)=0.08 p>0.05

F(2,12)=2.04 p>0.05

F(2,12)=15.3 p<0.001

F(2,12)=3.9 p<0.05

F(2,9)=2.5 p>0.05

F(2,12)=1.7 p>0.05

F(2,12)=13.3 p<0.001

F(2,12)=13.9 p<0.001

F(2,9)=0.8 p>0.05

F(2,12)=1.3 p>0.05

F(2,12)=8.7 p<0.01

F(2,12)=6.2 p<0.05


	F(2,11)=0.12 p>0.05

F(2,12)=0.08 p>0.05

F(2,12)=0.09 p>0.05

F(2,12)=2.2  p>0.05

F(2,8)=0.8 p>0.05

F(2,12)=0.09 p>0.05

F(2,12)=4.4 p<0.05

F(2,12)=30.3 p<0.0001

F(2,9)=0.08 p>0.05

F(2,12)=16.6 p<0.001

F(2,12)=9.6 p<0.01

F(2,12)=2.3 p>0.05

F(2,9)=0.05 p>0.05

F(2,12)=3.6 p>0.05

F(2,12)=0.5 p>0.05

F(2,12)=4.3 p<0.05



	Figure 3

VMH

H3Ac Oxtr +448/+518

H3Ac Oxtr +686/+748

H3Ac Oxtr +938/+1017

H3K4 Oxtr +448/+518

H3K4 Oxtr +686/+748

H3K4 Oxtr +938/+1017

POA

H3Ac Oxtr +448/+518

H3Ac Oxtr +686/+748

H3Ac Oxtr +938/+1017

H3K4 Oxtr +448/+518

H3K4 Oxtr +686/+748

H3K4 Oxtr +938/+1017


	F(1,12)=1.7, p>0.05

F(1,12)=7.6, p<0.05

F(1,12)=3.1, p>0.05

F(2,12)= 5.2 p<0.05
F(1,12)= 0.005 p>0.05
F(1,12)= 0.9, p>0.05
F(1,12)= 44.0 p<0.0001
F(1,12)=48.5 p<0.0001
F(1,12)= 204.6 p<0.0001
F(1,12)= 1.7 p>0.05
F(1,12)= 3.1 p>0.05
F(1,12)= 0.6 p>0.05

	F(2,12)=0.008, p>0.05

F(2,12)=5.2, p<0.05

F(2,12)=2.7, p>0.05

F(2,12)= 13.9, p<0.001
F(2,12)= 1.3, p>0.05
F(2,12)= 3.7, p>0.05
F(2,12)= 65.1 p<0.0001

F(2,12)=20.0 p<0.0001
F(2,12)= 91.8 p<0.0001
F(2,12)= 4.5 p<0.05
F(2,12)= 14.7 p<0.001
F(2,12)= 9.7 p<0.01
	F(2,12)=8.3, p<0.01

F(2,12)=18.9, p<0.001

F(2,12)=1.2, p>0.05

F(2,12)= 0.6, p>0.05
F(2,12)= 8.9, p<0.01
F(2,12)= 0.6, p>0.05
F(2,12)= 14.7 p<0.001
F(2,12)=41,7 p<0.0001
F(2,12)=78.1 p<0.0001
F(2,12)= 4.3 p<0.05
F(2,12)= 2.0 p>0.05
F(2,12)= 2.5 p>0.05



	Figure 4

VMH

ER Pgr Enh1

ER Pgr Enh2

ER Pgr Enh3

POA

ER Pgr Enh1

ER Pgr Enh2

ER Pgr Enh3
	F(1,12)= 9.4 p<0.01
F(1,12)= 14.7 p<0.01
F(1,12)= 13.0 p<0.01
F(1,12)= 3.6 p>0.05
F(1,12)= 7.4 p<0.05
F(1,12)= 11.0 p<0.0

	F(2,12)= 6.5 p<0.05
F(2,12)= 6.1 p<0.05
F(2,12)= 30.2 p<0.0001
F(2,12)= 7.6 p<0.01
F(2,12)= 10.3 p<0.01
F(2,12)= 25.2 p<0.0001

	F(2,12)= 1.5 p>0.05

F(2,12)= 0.2 p>0.05
F(2,12)= 4.6 p<0.05
F(2,12)= 0.6 p>0.05
F(2,12)= 0.5 p>0.05
F(2,12)= 0.3 p>0.05


	Figure 5

VMH

TR Pgr Enh1

TR Pgr Enh2

TR Pgr Enh3

POA

TR Pgr Enh1

TR Pgr Enh2

TR Pgr Enh3


	F(1,12)= 1.0 p>0.05

F(1,12)= 1.4 p>0.05

F(1,12)= 0.6 p>0.05

F(1,12)= 3.3 p>0.05

F(1,12)= 0.05 p>0.05

F(1,12)= 0.11 p>0.05


	F(2,12)= 4.0 p<0.05

F(2,12)= 99.5 p<0.0001

F(2,12)=53.4  p<0.0001

F(2,12)= 4.7 p<0.01

F(2,12)= 6.3 p<0.05

F(2,12)=18.2 p<0.001
	F(2,12)= 3.7 p>0.05

F(2,12)= 26.7 p<0.0001

F(2,12)=39.8  p<0.0001

F(2,12)= 0.1 p>0.05

F(2,12)= 1.8 p>0.05

F(2,12)=14.0 p<0.001

	Figure 6

VMH

ER Oxtr +448/+518

ER Oxtr +686/+748

ER Oxtr +938/+1017

TR Oxtr +448/+518

TR Oxtr +686/+748

TR Oxtr +938/+1017

POA

ER Oxtr +448/+518

ER Oxtr +686/+748

ER Oxtr +938/+1017

TR Oxtr +448/+518

TR Oxtr +686/+748

TR Oxtr +938/+1017


	F(1,12)=35.9 p<0.0001

F(1,12)=19.4 p<0.001

F(1,12)= 44.2 p<0.001

F(1,12)=4.5 p>0.05

F(1,12)=9.9 p<0.01

F(1,12)=24.8 p<0.001

F(1,12)=7.2 p<0.05

F(1,12)=105.1 p<0.0001

F(1,12)=166.2 p<0.0001

F(1,12)=30.4 p<0.001

F(1,12)=21.2 p<0.001

F(1,12)=9.6 p<0.01


	F(2,12)=126.1 p<0.0001

F(2,12)=31.8 p<0.0001

F(2,12)= 68.2 p<0.001

F(2,12)=97.8 p<0.0001

F(2,12)=169.7 p<0.0001

F(2,12)=131.1 p<0.0001

F(2,12)=16.1 p<0.001

F(2,12)=192.5 p<0.0001

F(2,12)=593.4 p<0.0001

F(2,12)=41.5 p<0.0001

F(2,12)=218.5 p<0.0001

F(2,12)=44.8 p<0.0001


	F(2,12)=24.7 p<0.0001

F(2,12)=6.9 p<0.05

F(2,12)= 20.8 p<0.001

F(2,12)=13.4 p<0.001

F(2,12)=12.0 p<0.01

F(2,12)=27.4 p<0.0001

F(2,12)=6.1 p<0.05

F(2,12)=67.4 p<0.0001

F(2,12)=104.6 p<0.0001

F(2,12)=32.3 p<0.0001

F(2,12)= 24.6 p<0.0001

F(2,12)=7.4 p<0.01

	Figure 7

VMH

Ncoa1 mRNA levels

Cbp mRNA levels

POA

Ncoa1 mRNA levels

Cbp mRNA levels


	F(1,28)=1.3 p>0.05

F(1,29)=2.4 p>0.05

F(1,27)=3.1 p>0.05

F(1,28)=16.3 p>0.001


	F(2,28)=2.2 p>0.05

F(2,29)=9.9 p<0.001

F(2,27)=0.2 p>0.05

F(2,28)=0.9 p>0.05


	F(2,28)=16.4 p<0.0001

F(2,29)=35.2 p<0.0001

F(2,27)=10.7 p<0.001

F(2,28)=4.4 p<0.05



	Sup Figure 1

VMH

Esr1 mRNA levels

Thra mRNA levels

POA

Esr1 mRNA levels

Thra mRNA levels


	F(1,31)=25.7 p<0.0001

F(1,29)=1.2 p>0.05

F(1,27)=15.6 p<0.001

F(1,29)=0.6 p>0.05


	F(2,31)=11.4 p<0.001

F(2,29)=2.4 p>0.05

F(2,27)=17.7 p<0.0001

F(2,29)=4.6 p<0.05


	F(2,31)=3.3 p<0.05

F(2,29)=5.6 p<0.05

F(2,27)=4.2 p<0.05

F(2,29)=26.3 p<0.0001



	Sup Figure 2

VMH

ER Pgr -721/-650

ER Pgr +261/+332

ER Pgr +621/+683

ER Pgr +841/+915

TR Pgr -721/-650

TR Pgr +261/+332

TR Pgr +621/+683

TR Pgr +841/+915

POA

ER Pgr -721/-650

ER Pgr +261/+332

ER Pgr +621/+683

ER Pgr +841/+915

TR Pgr -721/-650

TR Pgr +261/+332

TR Pgr +621/+683

TR Pgr +841/+915


	F(1,12)=0.6 p>0.05

F(1,12)=9.9 p<0.05

F(1,12)=1.7 p>0.05

F(1,12)=1.3 p>0.05

F(1,12)=0.5 p>0.05

F(1,12)=4.1 p>0.05

F(1,12)=2.7 p>0.05

F(1,12)=1.1 p>0.05

F(1,12)=0.6 p>0.05

F(1,12)=3.6 p>0.05

F(1,12)=1.5 p>0.05

F(1,12)=3.9 p>0.05

F(1,12)=0.02 p>0.05

F(1,12)=1.6 p>0.05

F(1,12)=1.3 p>0.05

F(1,12)=2.2 p>0.05
	F(2,12)=5.6 p<0.05

F(2,12)=11.4 p<0.01

F(2,12)=17.6 p<0.001

F(2,12)=5.5 p<0.05

F(2,12)=12.7 p<0.01

F(2,12)=5.6 p<0.05

F(2,12)=25.1 p<0.0001

F(2,12)=5.0 p<0.05

F(2,12)=5.1 p<0.05

F(2,12)=4.0 p<0.05

F(2,12)=22.8 p<0.0001

F(2,12)=29.6 p<0.0001

F(2,12)=1.5 p>0.05

F(2,12)=13.1 p<0.001

F(2,12)=158.2 p<0.0001

F(2,12)=32.6 p<0.0001


	F(2,12)=0.009 p>0.05

F(2,12)=0.2 p>0.05

F(2,12)=0.3 p>0.05

F(2,12)=0.07 p>0.05

F(2,12)=6.2 p<0.05

F(2,12)=3.3 p>0.05

F(2,12)=8.8 p<0.01

F(2,12)=0.8 p>0.05

F(2,12)=1.1 p>0.05

F(2,12)=0.8 p>0.05

F(2,12)=0.05 p>0.05

F(2,12)=0.03 p>0.05

F(2,12)=0.8 p>0.05

F(2,12)=5.5 p<0.05

F(2,12)=5.6 p<0.05

F(2,12)=10.0 p<0.01




Two-way ANOVA with mRNA expression, histone modifications and nuclear receptor recruitment as within-subject factors and E2 treatment or thyroid status as between-subject factors. 
